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QUESTION BOOKLET

This question paper contains 200 questions. / 57 9777 & 200 7 7 |

Al questions are compulsory. / @t 474 A 7o
One question carries one mark only. / 7% 999 & @7 Fad U 7% ¢ |
Total Marks : 200 Alggag A= : 200
Time : 2 Hours g ; 2 U2
1; was the Chief Guest on India’s 67" Republic Day.

(B) Angela Merkel

(A) Xilinping
\ (C) Barack Obama (D) F. Hollande
I T 6791 T 5o & g #fedq %7 4 2 T
(A) St SfdtT (B) Tster oa =
(C) =& stamr (D) TF FEAT
2.  The Zika virus is WEW\/
(A) Pigs }@ Mosquitoes (D) Goats ®

&ﬂmﬁﬁgﬂﬁ
(A) R aﬁ v,o m (D) W

3.  Which of the follow untries won the ICC Women’s T 20 Cup @/
finals 2016 ? (in April

(A) India (B) Australia
(C) West Indies ) New Zealand

4 = 4 2 fpg 3w = e &t FIETeH-2016 (3FeA-2016) ST 4T 2
(A) wma (B) (C) swTw (D) Feis

va Gross National Producy( 18
(A) The total output moonm and services produced by the country’s

economy.
(B) Total domestic and moﬁmn

(C) Sum of gross dome
(D) National income minus

Pl T I (S T i
(A) s H S SR 391 F At R A E A |

@mﬂ% gﬁ?ﬂ?ﬂ@mﬁﬁﬁ%%@m&mﬂﬂu_ ©
(C) o1 @R IeUEH AR ey &1 7% |
(D) T 3 - AL @ |

5.  The consumer’s surplus can be defined as
(A) Extra units of a commodity bought.

(B) Surplus commodity left after consumption.
(C) Difference between actual price and potential price.

(D) Total consumer satisfaction.
mﬁﬂ%%ﬂgﬂw%ﬁﬁmﬂﬁﬂf b
(A) 9vT TR & Al

(B) ST % =I5 7 gU

(C) ﬁ%&ﬁm%ﬂﬂﬁm%ﬂ%&ﬂﬁ%_

(D) o1 ST W |

tput claimed by residents of the country.

uct and investment.
expenditure.
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A

L

6.

2 fi

8.

. \#A) Development of Handlooms

10.

11.

(6%

’

: i cector ¢ sreinl banks 7
Which state has maximum branches of public sector commerc il

(A) Uttar Pradesh 2 ____h__,,,__ﬂﬂuﬂ
C) Karnataka — ujarat
%ﬂqdﬂm%@%ﬁﬁ»ﬂ%%aﬂﬁ%?
(A) IR IR (B) WER (C) wvites (D) TR

Which of the following at present is the country’s largest gas producer
(A) Reliance Industrial Ltd. (B) ONGC ..

(C) Both (A) and (B) (D) None of the .,;.uoﬁw
A F W | B A @ B @, 3w 9 v wg) g IeRE E
(A) fromw fefgae s (B) %,ﬂ%% ‘

(©) (A) 3 (B) 3 (D) 0 & =% @

Meera Seth Committee was related to

?

VA
p<e

(B) Sex-differentiation in Employment\

(C) Abolition of Child Labour

ol i o T h

HRT H S o

(A) &Y T F o (B) s # fomsig
(C) & aTeAs™ & FHIGH (D) =iterdr STt Hieer &

Disguised unemployment is the prominent feature of
Q&m Tertiary sector (B) Secondary sector

(C) Primary sector (D) \E of the above
nﬁw@ﬂ% e fafere T &
(A) Fars & &1 (B) et & 1 (C) s &7 # (D)

The open market operations refer to the sale and purchase by the R
(A) Foreign Exchange~ (B) Gold
(C) Government Securities

mmmwﬁbz of these
T AT R 1 HeH § RBLH &N et =1

fafrg =t (B) @t =
) T . (D) = H

= 0

VAT scheme is expected to

(A) Raise prices of foreign goods

(B) Raise prices of luxury goods

(C) Lower prices of goods of everyday use .

(D) Avoid repeated payment of duty from the raw materials stage to the
final product and thus reduce. »

T (VAT) T I ¢

(A) Toreh sregatt % < 5 =i

(B) faemfaar =t m.MWEH Lkl

(C) Tt e = gt &« Wt 0

(D) F=4 AT P FEE ¥ S SR TH TR-AR Yosh A § a9 IR ]
TR HH H
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6.

All revenues received, loans raised and money received in repayment of
loans by the Union government go into

(A) Public Account of India (B) Contingency Fund of India

(C) ﬁ::f_:__aﬁn@ Fund of India (D) None )

% FTRE G A1 I @, 3o A Aa O # e aer e &
el & )
(A) WA &t & fafer @ o
(C) wra =t wfeer fAfa 4

If an economy is in equilibrium at the point where plans to save and to
invest are equal, then government expenditure must be

(A) zero (B) equal to government income

(C) larger than government income (D) Negative

\)/
(B) 4E7d F Fi==-d A g

(D) 74 7 =% 21

ﬂm%ﬁﬂmﬁﬁﬁﬂﬂﬁﬂﬂgnﬂﬁmﬂ-ﬂ, A e fEer avEy
&, a9 TER W g : —: i _
(A) = (B) TTFH 34 ¥ avay R

(C) TR a7 & atfirs (D) FFNHFH T

Which committee was constituted for reforms in tax structure ?
(A) Narsimham Committee (B) Chelliaha Committee
(© Omaww_ Committee (D) Kelker Committee

H G & e 3 o0 fopg w82 &1 e ey a0

(A) TEerF9d (B) womsadt  (C) i s99 (D) FeH Fh

Socialism is in favour of
(A) Free Competition

(B) Planned economy
(C) Unplanned economy

(D) Equal opportunities

FHISTEIE TEET &
(A) v wfcraquf = (B) Traifae srdegaer =
(C) e sefsgawr (D) WHH &= >

Which of the following is not a canon of taxation given by Adam Smith ?
(A) Canon of Equity (B) Canon of Certainty

(C) Canon of Convenience (D) Canon of Elasticity

f=1 4 @ vew e & g e i e e A

(A) FHET HT H (B) fAfegae & #rm

(Q gfaen =1 (D) drerEat & HE

The best indicator of economic development of any country is

(A) Its Industrial Development (B) Its Gross Production
(C) Its Agricultural OméEmBmE (D) Its per Capita Income

ferat 2w & anfir foer &t e
(A) 9= rafier faemg (B) 3T Hhel IR :
(C) v i foshra (D) i vt o (D
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; o (C i s divoanl. 8 " e 1 volume of _
i ww%_m__m: Reserve Ratio (CRR) is reduced, supply of money an¢ 24.  What is the condition of Total Utility when Marginal Utility is positive ?
I A CPEASES S_ 7\_..;_:65 (B) Diminishing
(A) Increases (B) Decreas (C) Increasing i
(C) Remains Constant (D) None of these N S| HHie ITITET T g At s udﬂi Lﬂ.mf &
uﬁﬂx?&ﬂmﬂ%ﬁﬂmﬂﬂm%ﬁ&%%%%aﬂ . ( ) i At Fa 3 ﬁ #1 A = 2t 2
(A) TATRE ((B) TATEE | (C) PR E 1 (D) TP e L C) em (D) 7=
) 25, The chalcolithic people used to write on
19. The Monetary Policy of the country is framed by - (A) Palm Leaves (B) Clay Tablets
(A) RBI (B) Ministry of Finance . (C) Leather (D) D e bseso tiesaie i
(C) Government of India _ (D) Planning Commission AR WA fore & fore Fepramn 3 =677 4 2 ) uh e art of writing
(A) RBIERT (B) faw =T 51T 8 (C) == H (D) = T FF A A G |
(C) T TR TR (D) @S AT R 26. — Em,mm .EM crop (produced by the Indus people) which the Greeks
ed as ‘Sindon’.
20. The focus of Second Five Year Plan was on (A) Barley (B) Sugarcane (C) Cotton (D
: k. > ¢ ) Wheat
(A) Industry (B) Agriculture TF e G i S o A W
(C) Education (D) Reduction of Poverty E|ﬂ4 aw._m BT Jearfa) foret v = “dre Fed 4 | Q)
fedirr YaadE GieET 6 BiHT 91 (B) = (C) A (D) TE

(A) FETH (B) FWW

21. Devaluation of the currency is associated with
(A) Reduction in the value of currency

statue of ‘Dancing Girl’ ?
v (A) Bhimbetka (B) Kalibangan (C) mmwmwmm. (D) Mohenjodaro

© o D) T =R T m,\ 27. Which Indus Valley Civilization site would you associate with the bronze
Y ¥
g ot e @t forw e o7 ey o S T % A = gt % W e 2

(B) Increase in the value of currency ; |\b b (A) soees (B) e (C) wEom D) HesiRg  x
€ Bt N (Caste Syste’ n India _
o t from the very beginnin
R T ST T € (B) EM%%;% ey ceriod®
. . g Indus Vall d
() mETEH itz @ st . B} mﬂ.%mﬂ.ﬂ # St | D (C) Became rigid during Emu.\,\wmﬂ%mmm A

(C) (A) 71 (B) T § (D) T A HE T %Na %Mﬂ%w%.ma during later Vedic age
22. The Budget where income is greater than expenditure is called as ll\u (A) =ga ﬁﬂ o _

(A) Surplus Budget (B)- Deficit Budget (B) finy o 3 B T o

(C) Balanced Budget _ (D) Zero Based Budget \\ (©) M&Aﬂ I

forg ot 1 = FY I A S A Bl €, FEO € ¢ i v D) mﬂzww,a %ﬁﬂﬂﬂ ™

(A) fdReRT Fr 7 (B) =< H T o 29. Buddhism wa aﬂ.a di i A

s . S . . .

© s D) s A i sy g ey o
23.  Which of the following names is associated with ‘Green Revolution’ as its (C)  The Guptas (D) Harshavardhana

Chief Architect ? Wﬂwm.__ 1T o SN SgaTs e iR gaam o fawnfore g mar o 2 ®

(A) V. Kurien (B) Vinoba Bhave (A) Im - (B) = (€) T= (D) e

% %Mz%ﬂﬁ_& Nehru _ 5 m_ﬂwumvn M.S. msmw:nmes 30. Jain scriptures have been written in B ,

T T gfeshifc & T&T e i & 2 (A) Sanskrit (B) Ardhamagadhi
(A) & (B), ferfrar v %v Brahmi _ (D) Prakrit
(C) VAR AT (D) TAE. WA ® gﬁ.ﬁflm?@ﬂw _ a
K ko2 (B) smmmit  (C) wmeh @) wpa N
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31. was the Chairman of the first Tamil Sanganm.
(A) Tiruvalluvar (B) Parshurama
(C) Mamulnaar (D) Agastya
e Attt I F ENmf e &2 X
(A) figeee® (B) W (C) WHFHR (D) &4,
32, ‘Buddha Charita’ was written by
(A) Nagarjuna (B) Upagupta
(C) Vasumitra . (D) Ashwaghosha
e e g Tt mE et o (D
(A) AT (B) STT= (C) =gfw (D) awEHN
33, Who among the following was the last Mauryan W:._m_. ?
(A) Kunala (B) wc.m:%n:qm
(C) Mahendra (D) Brihadaratha
it en et A e a2
(A) F (B) A (C) #e= (D) T
34. Which of the following rulers/kings of ancient India, has been depicted on
his coins playing the lute (Veena) ?
(A) Ashoka, the great (B) mm_.,m.:mﬁasm:m
(C) Samudragupta (D) Kanishka .
. U uRa ¥ e F @ feg ereeeT it don awi §g 39 g A et e ar
(A) TeF e (B) wWeA (©) TITA (D) =
35." Which of the following Sultans of Delhi, has mention of his name in the
literary work ‘Padmavat’ written by ‘Malik Muhammad Jayasi’ ?
(A) Muhammad bin Tughlag (B) Balban
(C) Alauddin Khilji (D) Sikandar Lodhi
fret & & feoett & Foh oo & W %1 St e Jews st i ot et @
TS ‘TRIEE o g3 €
(A) qowe & o (B) w&ted
(C) 3rese fawstt (D) fashez et
36. ,,c.S._mo: of the following Sufi Silsilas was the most popular Silsila in India ?
(A) Qadiri (B) Chisti
(C) Suhravardi (D) None of these
7= 7 @ = w1 got fqetaen ara &1 ge) wewha faster o 0
(A) HE (B) i (©) TeTmst (D) =9 | T
Code No. : C-361/2016/Series-C 8
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38.

39.

40.

42,

43.

Who brought 02 Ashokan Pillars from Topra (Ambala) and Meerut to Delhi ?
(A) Firoz Shah Tughlaq (B) Qutubuddin Aibak

(C) Alauddin Khilji _ (D) Muhammad bin Tughlaq

Y % 2 WAl T 2T (FEAT) AT G2 A T O A A #5910

(A) st v gaers (B) FATER 1aF

(C) Fems et (D) g% fom gre

Who was defeated in the Second Battle of Tarain ?

(A) Rana Sanga (B) Maharana Pratap
(C) Tipu Sultan (D) Prithviraj Chauhan
feeftr ot g d A wimE g a0 (0

(A) TOT | (B) mermmuwar (C) Qg HeaE (D) YRS =R

Who introduced ‘Chehra’ and ‘Daag’ as a major Military reform ?

(A) Iltutmish (B) Balban

(C) Razia Sultan (D) _Alauddin Khilji

R R T F g e gt & = § e oftae wmr o ©

(A) ToxerT (B) == (C) T gea= (D) 3resE fawstt

Who looted Delhi and imprisoned the Mughal Emperor in 1739 ?
(A) Taimur lang (B) Nadir Shah

(C) Ahmed Shah Abdali (D) Changez Khan

forer foeett 6t o SN T TE A 1730 A Fw A T a0

(A) T em (B) AfwIE  (C) 3wz W = (D) i @
‘Rana Sanga’ was defeated by in the historic battle of ‘Khanwah’.
(A) Akbar (B) Humayun

(C) Babar (D) Aurangzeb

G % UfeTes 39 § o Wi @t e a0 N
(A) ¥R B) 4 (C) =R (D) e

Hyder Ali of Mysore took the assistance of to modernize his military
and gun-battery (cannons).
(A) British

(B) Portuguese

(C) Dutch (D) French :

Mﬂ%wﬁi»iﬁ%%ﬂ%%%gggﬂ
? @

(A) forer (B) g (C) =w (D) %=

Which poet from Akbar’s court translated parts of the ‘lilavati’ and
‘Kathasaritsagar’ into Persian ? .

(A) Birbal (B) Mansur (C) Faizi (D) Abul Fazal
FFAT & AR % BhE T T ooy ik FYEARTET % 9T 1 G §
FER e

(A) sE= (B) ¥R (C) st (D) A Fter
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45,

46.

47.

Battle of Talikota took place in the year 51,

e S gg e d g A gon? (1 i
(A) 1545 (B) 1555 (C) 1556 (D) 156

Name the Sikh Guru who developed a new script called ‘Gurumukhi® ?
(A) Guru Nanank Dev

(C) Guru Angad (D) Guru Gobind Singh

% (C) aE (D) oS o
a farman from the Mughal Euperor J ahangir
urat in 1613 7

(B) Captain Cook :

(D) Sir Thomas Roe 53,
1613 § que1 GWIE SRR ¥ Ta | HREH S

mﬁ?ﬂuﬂﬁmﬁgm&?ﬂ» e e 7E fAf o ferspia R @t | )

(A)

B)

(B) @ FH
(D) & amE T
2 Third Battle of Panipat ?

(B) Shivaji
(D) Nana Phadnavis

forces in

(C) Sadashiv Jfao BRau

@ Feirg g ¥ A\ AT 1 1 A e fear e 2 o i
(A) (B) :
C€) (D) AT wEAH _
48. In which mmmmg congress split up into two wings ‘the Moderates’
d ‘the Extremists’ ?
MMV Surat Lucknow  (C) Kolkatta (D) Ahmedabad
fop Ao §, FT 3 TN T, R #R gEEr ? QO
(A) g ) @S (C) et (D) ERIER 55,
49. The Great Revolt of 1857 started from
(A) Jhansi (B) Gwalior (C) Lucknow (D) Meerut
1857 &1 foreen e et A yEgen a2 QO _.
(A) =rEr (B) TaTeraT (C) &&TaH (D) e
50. Bhagat Singh, Sukhdev and Rajguru were tried for the murder of British 56.
Police Officer : .
(A) J.P. Saunders MWW wsm Dwyer
C) Sir John Simon ackson
(A) R ded  (B) WA T (C) W U (D) o
Code No. : C-361/2016/Series-C 10

(B) Guru Amardas 52.

In which year, the Cripps Mission arrived in India 7
febar w4 o T forerr a1 e e g ar o ™

(A) 1927 (B) 1938 (C) 1942 (D) 1946
Who founded Aligarh College in 1875 ?

(A) Dadabhai Naoroji (B) Sir Sayed Ahmad Khan
(C) b.&E Kalam Azad (D) Mohammad Ali Jinnah
1875 ® aTeftg et #t = fmma o ()

(A) BRME A=t (B) T ATT 7Eqz @

(C) A FoIH AT (D) =T #A A=

During which Nationalist Movement, the Garhwal soldiers refused to fire on
the people at Peshwar ?

(A) Non Cooperation Movement
(C) Quit India Movement

few i

Y fear a1 7 k

(A) ST SR (B) e sttestert s=<iert

(C) wr BiEt § v. (D) =T W

Widow mmae%o%ﬁm& in the year 1856 with the efforts of
(8]

(A) Raja Ram Moh y (B) Keshab Chandra Sen
(C) Surendra Eﬁ.& (D) Ishwar Chandra Vidyasagar

(B) Civil Disobedience Movement
(D) Champaran Satyagraha
% 3N, Tgare Af5# 4 99 F @ 9 e 99 ¥ S ER

foreran qAfaaTE 51 T 1856 | feharent iferii 3t e & wifea foar mar 2 ()
(A) T (B) &vig 95 ¥
©) T 7Y (D) ¥ o= foamarr

Which of the fofllowNgg, words, does not appear in the Preamble of the
Constitution ?

(A) Sovereign (B) Socialist (C) Democratic (D) Patriotic
fraddsmw s deam Fem@ad ad amm e (D
(A) WSS (B) wHTETE! (C) wirehat=ie

Generally, the Union Territories are governed by
(A) Chief Minister (B) State Government
(C) Local Government (D) Union Government

IR, A T 1 s g ST feha S & 2 Q)
(A) T wEt (B) T W& (C) ©HE &R (D) Ifa7 TWHR

(D) 3I9-9ad

11 Code No. : C-361/2016/Series-C




62.  Right to Constitutional Remedies comes under

5. appoints the Chief Minister of a z::._,., S —— .
G Gt S i Cowt o e S R A R L
B) Governor of the State. = s . - _ Natural Rights
Mg mwﬁmrcq of the Legislative Assembly. WA 30AT %1 Atawm s dada & o
(D) Prime Minister of the Country. (A) ...HJ st (B) ﬂln: ATTFT Q,
Hﬂ%%m@ﬂ&ﬁwmﬁaﬂw_ ® (C) s s (D) W & \t|rf,.|‘
(A) T4 - Ied =TT W ' SR LN @ What is Gn maximum number of elected members in 4 State Assembly ?
(B) dﬂm 5 T T | A T G F A T o C™S
ﬁmw S %MMH . : (A) 250 (B) 300 (C) 500 (D) 600
( 64. The Prime Minister is/ma T
) . . ¥
58. Which of the following states has Enm%%ﬁﬂm@wﬁ:& ? . AMV :%ma of the government
ﬁ% wwﬁ_ﬁﬁ%mm: (D) Himachal Pradesh . AOV ¢ :m Hmmamrn o_m Lok Sabha o .
Tﬂ 1 %pmﬂﬁ ﬂﬂ : _ﬂﬁmﬂm P MUW nU mmmm& e conmo:nvm of the Ministers at will
5 0a € above
(A) ToFEA (B) eR@mn €) swww (D) fererer e () T T et O

59. The Indian Constitution has borrowed the idea of ‘Suspension /7 n (A) TN & THE

Fundamental Rights during mBQmmsommWowu . (D) Germany (B) ofie &1 &
T mﬂ apan . :
(A) USA s (B) c&&ﬁmﬂ mﬂm PR, . i v v‘ (C) %i%gimﬁﬁiw_
?ﬂfew .w Y T ST . S (D) U Tt T HWebet ¥ |
A) m,.mﬁ.m.. B) IH (C) <M= (D) S B\ bm Right to Information Act came into being in the year :

i YA HT AYFR T 7 s & a7

i ing ci the President declare I { |

60. Under which of the following circumstances can theé w “ (A) 2000 B) 2001 (©) 2005 O (D) 2006
>
‘l\

emergency ?
One must be to become the Vice-president of India.

1. External Aggression
WA % YT 5 o forg Foelt safere 1 & IH BT TR |

66
2. Armed Rebellion S
3. Instability of Government (A) 25 (B) 30 © 35 55 45 @
4. Financial Crisis ” ! ) ;
Select the answer from the codes given below : 67. The removal of the President from office is to be in accordance with Article
(A) 1,2and3 (B) l,3and4 (C) 2,3and4 (D) 1,2and4 \\ — of the Constitution.
firer o & T aRefa o siceta, Tl SaTasTeT S T T € ? e & oY @t eI § Ut St ug & Frepiad fear sy W,
| e a3 5 - 2. gue fagle ® (A) 370 B) 54 (©) 61 (D) 72
3 T e 4. ITaF THS 68. The maximum strength of Rajya Sabha is
4 g o e § § HEl I gHe fareg TS |91 1 Sehay Fr g& w@ ©.,
(A) 1,28R3 (B) 1,334 (C) 2,33k4 (D) 1,234 . (A) 250 (B) 260 ) 275 (D) 300
61. Which of the following describes India as a Secular State ? 69. T is Em. Apex body under Local Self-government in Urban areas.
(A) Fundamental Rights (B) Ninth Schedule (A) Zila Parishad (B) Nagar Panchayat
(C) Directive Principles (D) Preamble to the Constitution (C) Municipal Council . (D) Municipal Corporation
frefefEd o @ T IR Y TR T % W H S S £ 0 _ TR #3 H T A 3 St I ST Bt ¥ |
_ (A) T IR (B) et gt ™ (A) fendfeg - (B) FwdEmE  (C) Fwdfes (D) Awmbrm (b
(C) v fagr (D) SV Fi e
13 .2 C- |
Code No. : C-361/2016/Series-C 12 Code No, : C-361/2016/Series-C




democracy in India.

jram Panchayat
e (B) Gram Panc
i Giam Sebtin (s o B
HRE & Hee A H q e FAETR |
(A) Frerggue gfEfa (B) am wEd (O T ST

i -ds in as i rder :
71. Give a meaningful order to the following éoﬁ.,.,..._: m.ﬂw_maam o
1. Chief Secretary 2. Office
3. Governor 4. Collector

70. is the best example of direct

5. President

Codes :

Qm 542,13 (B) 1.8.2.4.9

€ 2.4,1,3,5 (D) .rulrm,m
fopmffan vt 1 Srqet %9 3 gU Ted HA H fofey : 0
1. Y= gfEd 2. Siftee oTh

3. T~ - 4, wHAFRT

5. agHla-

E T

(A) 5,4,2,1,3 B) 1,3,2,4,5
©) 2,4,1,3,5 (D) 1,3,4,2,5

72. Who said, “Democracy is a Government of the people, by the people and for
the people™ ?
(A) Mahatma Gandhi
(C) Martin Luther King

(B) Thomas Jefferson
(D) Abraham Lincoln

o7 9
(A) weTe Tt (B) AT SRR
... (C) "M o= fam (D) F=men for
73. _ The Supreme Court of India comprises of the Chief Justice of India and
= other judges.
YR & Wared aed § 9T % 96 it st THL =T 6
R Eae | QD _ _
(A) 28 B) 29 © 30 (D) 31

74. The Report of the Public Accounts Committee is presented to
(A) Prime Minister (B) Finance Minister
(C) Lok Sabha (D) President
wfifa % wrwie @t @ foe & WO U9 R S i |
(A) wur =t (B) fomr wat (ORI (D) wewfy X
<
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(D) femafeg X

o, STET I §, ST % g AR Sa1 % forw v wwr € 1 @ e wa O

8

76.

T

78.

79.

80.

81.

82.

The heavenly bodies that revolve around their respective planets are called

(A) m‘z_; (B) Constellations

(C) Satellites . .. _ (D) Asteroids ) .
@i firg it f et ot & At o ot we  m e wwa £ (D
(A) @i (B) AmTHZA (C) 3w (D) wies

are made up of dust and frozen gases.

(A) Stars (B)_ Comets (C) Planets (D) Meteors
Yl 3R T gUH A A A |

(A) arr (B) A (C) & D) s O

The Tropic of Cancer does not pass through

(A) Tripura (B) Jharkhand

(C) Gujarat (D) Maharashtra

FeHaT HEH BT el et 2 O;L/

(A) faga (B) #r@E (©) T (D) werTg

‘Gandhi Sagar Dam’ isin______ State. :

(A) Gujarat (B) Madhya Pradesh

(C) Rajasthan (D) Uttar Pradesh

et R A PR asady, OO

(A) TRE (B) == wawr (C) TTE= (D) ST WRw
is the smallest State of India. (areawise)

(A) Sikkim (B) Tripura (C) Goa (D) Manipur

YRA T F BT T & | (SRR W)
(A) fefer (B) frg (C) (D) =for

colour is used to represent plateaus on a map.

(A) Green (B) Brown (C) Yellow (D) Blue
T ¥ ger % el w0 % R OTH 3@ B E | ®
A) & B) (C) dem (D) ren
river is known as the ‘Ganga of South’.
(A) Mahanadi (B) Krishna
(C) Godavari (D) Cauveri (Kaveri)
forr 7t =t “aferor B T P STET R o
(A) Terd (B) F=m (C) mierertt D) =0~ @
‘Pushkar Lake’ is in State.
(A) Madhya Pradesh (B) Rajasthan
(C) Haryana . (D) Uttar Pradesh
T Fer R T A e ®
(A) 79 WY (B) T (C) R (D) SWWy
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for its Coral Reefs ? o

Which continent is home to largest number of countries ?

83.  Which of the following countries is famous 107 ! , .
(A) Indonesia (B) Chile (A) Asia (B) South America
(C)_Australia (D) Mangolia " (C) Africa - (D) North America
i & @ T A e e Rt & fe e e _ A A AR A w2t & fow e o O
(A) weRfermr  (B) et © g (D) HCE (A) oferm (B) =it s
84. Which of the following States of India does not touch the boundaries of (C) 3R (D) 0w
Pakistan ? . . 91. The mountain range ‘Alps’ is located in
(A) Jammu & Kashmir (B) Punjab (A) Europe (B) USA
(C) Gujarat (D) Haryana (C) South America (D) Africa
forer F & sTRE W1 HF T T TiEEE &%ﬂaiﬁﬂﬂ Bl |
(A) w1 ST R (BRI % (A) T (B) 4UWET (C) =t s (D) s (O
| (€) THE L) 92. The famous port ‘Nagapatnam’ is located in the state of
| 85. is known as the ‘Rice Bowl of India’ (A) Odisha (B) Tamil Nadu
(A) Odisha (B) Andhra Pradesh (C) Andhra Pradesh (D) Kerala
(C) Tamil Nadu (D) Karnataka i g sTE ATTaEA PR o | feee £ 9 ®
| %,nﬁﬁmﬂﬁﬂﬁ.%uﬂ@ﬂﬂiw_ 5 &/ (A) 3ifgem (B) dferrg (C) =iy wdw (D) &t
‘ (A) 3ifgm (B) 3y W (C) Ty (D) “ y ‘Pong Dam’ is associated with river _______. .
86. Kaziranga National Park is in (A) mm:&. . (B) Beas (C) Chenab (D) Ravi
_ (A) West Bengal (B) Odisha ¥ “of Jey ey Eg A g ¥ 0 N
(C) Asom . (D) Meghalaya / b (A) FaesT (B) =¥ (C) faa= (D) e
ST A T F § 2 9 4. , The ci larly known as ‘Isl f Cloves’ i
: s ©) = (D) W™ 94. e city popularly known as ‘Island of Cloves’ is .
(A) J=m s (B) . L m (A) Chile (B) Madagascar (C) Zanzibar (D) SriLanka
87. Which of the following states is famous for its ‘Bhilai Steel Plant’ ? e TET ST AT AR X AT @ 2 T T ¥ 2
(A). Chhattisgarh (B) Jharkhand (A) =it (B) Herm&R  (C) SR D) s M
(C) Madhya Pradesh (D) Bihar . . . o )
e F i T o T oS et wae % T e € 7 6 95 Who is the Union Minister for Human Resource Development ?
g o C) wer W (D) fmr (A) Sushma Swaraj (B) Arun Jaitley
(A) BT (B) WRGS < - (C) HarshVardhan (D) Smriti Irani
88. The countries, connected by the Palk Strait, are \\ BIGCR G CEIL] F g T BT E 2
(A) Britain and France (B) Zoﬂ: and mA.EE Korea (A) gET &R (B) smusieet  (C) gayd (D) i 9
(C) Pakistan and Iran (D) India and Sri Lanka . . . . :
AR EA B HF LY RETE? 96. Who has been awarded ‘Dada Saheb Phalke Award’ in the 63" National
. Film Awards Ceremony this year ?
(A) T sl wiw (B) ¥ 3 g i (A) Dilip Kumar
+ (C) difehear 3 TH (D) 4R 3 sfiiem . 7 (B) Rajendar Kumar (Posthumously)
89. Which state would you associate with Pir Panjal Range ? %W Ww_mw_mww Wﬂﬂ%w SRl
(A) Nagaland (B) Uttarakhand . T e o
(C) Jammu & Kashmir (D) Meghalaya WA F 63t Aﬂ 7 e TR TARE ¥ TRT A aEre o fFa & QJ
T GTTeT qaa-arel & 39 HE T & 9 e 0 T T & 9
(A) e ® swgs QO (A) feefa TR (B) T AR (ROTHI)
(C) 1 3R HTHR (D) " (C) Tt @ (FROMIT) (D) =N AR
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97. The tribe ‘Pangwalas’ is associated s..mﬁ_“fila‘; ._z_h“_.,.. 104. The taxi broke ____ on the way to bus stand.
(A) Jammu & Kashmir i (A) out (B _— ?
(C) Himachal Pradesh . (D) Punjab “ i (€) with () dova Y
T s W A v § g ¥ Q) 105. As Ramesh is bed-ridden, he is confined his house.
(A) =] 3R HYHR (B) WM (A) by (B) with (C) in (D) to
femare D) U -
© WY ( . o " 106. Words or phrases inscribed on a person’s tomb.
98. The famous traditional dance ‘Ruf’ or ‘Rauf” is associated w1 tate. (A) Obituary (B) Memoir (C) Epitaph (D) Epitome
(A) Andhra Pradesh (B) Rajasthan : . : . .
(C) Jammu & Kashmir (D) Dadra & Nagar Haveli 107. Abstinence from marital/sexual relations
n?ﬂ%mﬂmﬁ.wm T \&Mﬂ ﬁ@ﬁaﬂﬂﬁmﬂw@ @ (A) Salvation (B) Hermitry (C) Celibacy (D) Misogyny _j\.,
(A) 3w AWU rre s w3 108. The synonym of ‘Chastity’ is ;
(C) 19 3R FER D) (A) Enormous (B) Innocence (C) Homage (D) Fortunate
99, The Gayatri Mantra is dedicated to : .
A) H:M Earth (Prithvi) (B) The Indra l.\/ nw. The synonym of ‘Haughty’ is
(C) The Wind God (Vayu) (D) The Sun (Surya) “ (A) Naughty (B) Goodness (C) Arrogant (D) Cordia]
et ¥ ot e fomar T & 2 ©) T ¥ @‘dﬁ antonym of ‘Tedious’ is
(A) =i (B) = (€ "9 _ A) Plenty (B) Sacred (C) United (D) Exciting
: isguise of ‘Mohini’ to help th€Go -
100. Wﬁﬂﬁ%ﬂ%ﬂ T todk. Wi Ciguise = 111. Ahe antonym of ‘Moderate’ is
(A) Arjuna (B) Amba (C) Vishnu (D) Urvashi ) Essential (B) Radical (C) Prudent (D) Chaos
. : * .iu m..»._. ﬁﬂ.
MMMJ | A S o A m_j,. HHE A % R 12. Select the misspelt word :
. A) Illegitimat H i
A) @B) # © To_.mm ®) et QW (A) Ilegitimate (B) Haphazard (C) Ferocious (D) Abundance
. Select the misspelt word :
101. Select the odd one out : ; . . :
| (A) Dollar (B) Currency (C) Euro (D) Riyal g7 (A) Volunteer (B) Furniture (C) Ancistral (D) Sovereignty
e T AR ST FHIOTY . 114. Choose the word which can correctly substitute the underlined part of the
| (A) T B) wa © T @) fam O " o
102. Select the word which cannot be formed using the letters of the given word It was difficult to make out what Harsha was saying.
@ % YT 9T it g Y e & ner @ A o (A) Draw on paper ?&zwnﬁ:
‘INFRASTRUCTURE’ (B) Hear or understand
| (A) Fracture (B) Uranus (C) Refrain (D) Inter-caste (] (C) To decorate something
ﬁ 7 103. Complete the series : (D) Taking out materials from a bucket
il _HH.G um.",\ SRW. 70X, 2 115. He is driving very fast because he is : ;
o oON“ ’ ﬁwv, mwN. £ ©) 8pY ).%@ Y X (A) hurrying (B) inahurry (C) into hurry (D) m, hurry
Code No. : C-361/2016/Series-C 18 . : " R B A
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.W—J.Izn-,. AL.n,b.Ja. }mb
: R meaning of (he
116. Select the correct option which best expre . ol
Idiom/Phrase : 0 124. Y 0 Py . o
“Take the bull by the horns’ st aiid it oy (A) famfera (B) formimg (C) e
(A) Confronting a problem head-on in a determined a 128, @ T
4B) To find oneself in an awkward situation (A) - B) © wr
(C) To be in confusion 126. Rt & @ - R ’ .
(D) To pass through difficulties o nﬂnmwv ﬁﬂﬁuﬂmﬂﬂ. g
117. Select the correct option which best expresses the meaning of the 127. g T feim &
Idiom/Phrase : ' N
‘An Olive branch’ D (A) M,M. o (B) T (C) =g
(A) To live in isolation (B) To occur on rare 0ccasions 128. ‘anT & famm
(C) Resourceful person (D) An offer of peace or truce (A) HERT (B) o= () T
118. Ramesh is untidy boy. 129. AT H ygigET ¥
(A) a (B) an (A) T (B) 3 (C) Fomam
(C) the (D) Both ‘A’ and ‘B /\/k T W qAEETE &
119. Kuran is the sacred book of the Muslims. (A) 3rmr (B) 3w (C) @
(A) A (B) An ‘ Vmﬂ&%ﬂﬂgﬂﬁﬂ@gf
(C) The (D) ‘B’ and ‘C’ both correct 3 i B Frer (B) e
120. Sukhwinder does not know Tamil. (Change the veice) C) wArEee EREL (D) wer=at g\
(A) No Tamil known by Sukhwinder 13 1= 7 Tawieor &
(B) Tamil is not known to Sukhwinder (A) ufas (B) aftr (C) wEm
(C) Tamil was not known by Sukhwinder . Prefafes & - h
(D)., Tamil is not known by Sukhwinder 0..\ W A
| (A) T B) © ©) 3
121. Who will pay the bill ? (Change the voice) et i wr
(A) The bill will be paid by who ? oo P NI FTHRPSTY
e bill will be paid by who ? . A) T+ 3y
(B) Whom by the bill will be paid ? @ W SRl @ =eaft (© o
(C) Whom the bill will be paid to ? 135. SV o whufosg &
(D) By whom will the bill be paid ?, (A) ST+qR  (B) M +9eM (© 5q+7em
1 122./ Switzerland has a charming landscape . (Choose the adjective) 136. ‘mavasma ¥ 3tfiren aut %n:,
(A) Switzerland (B) has (A) s (B) FiEmam (C) sfagfee
(C) Charming,» (D) Landscape 137. gz© & IHAEET FH W B G gE ¥ o
123. Give plural of ‘Commando’ - AW (B) F=IW (C) d=
(A) Commandoes »— (B) Commandos 138. F it qgrar 71 oM
(C) Commandoos (D) Comméndoas (A) R (B) et () ¥y
Code No. : C-361/2016/Series-C 20

(D) drefag ~

(D) @festme

(D) & L

(D) =

o #m O

o= O

(D) s (h
QTN S\

of AR
D) s (D
®F

(D) = +afy (T
D) s@+ge (D
D) 3T =

@) gewm (O

D s O
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139,

140.
141.

142.

143.

144,

145.

146.

i (C) Sri Aurobindo

Code No. : C-361/2016/Series-C

- o AT, ST A | N 147.
a1 @IU &R T, 91 9 SR ___.Lw
et ® RS ST 1 ST g E |
(A) I (B) (©) ¥ D) -
wter S A Qg ¢ - o g A e
’ pLii
(A) gEIm P (B) fomar
(C) wreHe fasiyor , (D) @E&ﬂ X .
TR TS FEHE H TAD & _.lmﬂmﬁﬁ.gﬂﬁq&:m@af -
(A) ferar-faemor (B) WeAmaras [T Q
(C) wRmmETE fawtor (D) %W&q&
et 5 e
(A) =rRiE (B) hwelt (C) o (D) e .
T TeTT THTHT S aTeT I
(A) TR (B) IR (©) g™ D)

What is Axiology ? .

(A) Logic, Ethics and Aesthetics

(B) Logic, Grammar and Rhetorics
(C) Logic, Grammar and Mathematics
(D) Ethics, Sociology and Philosophy
oo |1 41 & 2

(A) T, Ffaere it diedare

(B) TEhIR, ST 3T Wifeeawme

(C) eI, SATHTOT ST MO

(D) Hifeere, Fam-fam R T E

Marxist educational philosophy is closer to
(A) Realism (B) Idealism (C) Pragmatism

HrRGarE] Wit deaee e 9HY & 2 ©
(A) TR (B) ¥m¥E®  (C) (D) Ve

On whose leadership is founded the University at Pondicherry ?
(A) R.N. Tagore - (B) Swami Vivekananda
(D) Mahatma Gandhi
diErd # e g & g9 giataet wia @i g o o ®

(A) FRTA. &R (B) @i fas®mg (C) it snfae (D) weremT et

/\-/.
mrv

“ 152.

R
© s

; 153.
(D) Naturalism

154.

22

Who among the following propounded ‘socialism’ in education ?

(A) _.ﬁ._fc:. (B) Dewey (C) Sartre (D) Stalin
Fret 4 fepert foven o “mmraar 1 waferm e an 2
(A) THa (B) =z (C) A (D) =

Education develops child’s ;
(A) Expressions (B) Intuition

(C) Accuracy (D) Innate powers
forer =21 % 3y &1 faerm e 7

(A) stFeafm (B) #rsi (C) "z (D) et v
Medieval period was dominated by ___ education.

(A) Vedic (B) Buddhist

(C) Islamic (D) None of the above

e fomn & s ERT AT |

(A) A (B) g (C) et (D) 3 5t

A school is a miniature )

(A) State (B) Family (C) Society (D) Organisation
forrer us Bt &

(A) Y (B) uRaw (C) wu=T (D) Fw=n
Performance tests are Ens,na as ]

(A) Verbal tests (B) Non-verbal tests

(C). Projective tests

I 1 T & 2
(A) difgs FEidt (B) swifewr=ar (C) waidm &id (D) Fg7d waet
According to Psychology, all education is

(A) Deliberate (B) Conscious x
(C) Functional (D) Self-education

HAIT % Teifaes, WY ferem T :

(A) w=Fa (B) @A (C) s (D) w@femm

Who among the following was the first man to describe ‘Null vaoz.mmww.. {:
(A) William James (B) Raymond Dodge

(C) Ronald Fisher (D) Freud

frefetfed & @ #17 a8 vear amed fre “sm aReEemr 1 ot e ot 2

(A) fafe@m s (B) Weew  (C) WwswwR (D) waT

Psycho-analysis was propounded by

(D) Subjective tests

(A) Jung (B) Hull (C) .f.:ﬂ. (D) S.Freud

Tifavers st e wafea faar ar 2 = ;

(A) gm (B) & (C) TewW D) w.wEs ()
23 Code No. : C-361/2016/Series-C




155.

156.

157.

158.

159.
160.

- 161.

M.A.
1Q. =755 % 100 >
above ¢ ion was developed by : a
H_hgm .ﬁm_’_a a@cm:o_“wJ ..ﬂw.wm_.ﬁ:? f.@ Binet (D) Spearman
163,
1.Q= m_|wl x 100
g wtET it R Rt e & 2
A) & (B) W (©) e L Bt 164,
Cognition can be statedas _______ s ;
cﬁm Feeling (B) Knowing  (C) Willing (D) Doing
T femwEmae 1 (D
(A) W& (B) SH&HRI (C) =1 (D) =TT
Creativity increases with !
f%; >me (B) Practice (C) Experience (D) Education 65,
TS Y EEde | i
(A) (B) e (C) ¥ I CRVAN K
Mental deficiency indicates 1.Q. ranges
(A) 251050 (B) 50to 70 (C) 0to70 (D) Oto
TAEHeT g T W G BT E | b
(A) 25¥ 50 (B) 50¥70 (C) 0¥ 70 (D) 0 Sw“r

Complex of colleges is called
(A) Unitary University
(C) State University

hwu Federal University
(D) Central University

ot & THE F FT FEd € 2
(A) Fed ghmfed (B) % Pt <
(©) Bz FhEred (D) ¥ger grrmraet

The aim of education in Vedic system of education is
(A) Personality development (B) Character formation
(C) Preservation of culture (D) All the above

fomen 1 Afcw vl & RmT F I FE 2
(A) = faerg (B) e fmfor
(C) wgfa &1 HReaor (D) 3w wedt Q

The main feature of Muslim education was
(A) Vocational education .

(B) Technical education

(C) Propagation of Muslim religion

(D) Propagation of Hindu religion

| Tfeer forem i e forra ot 2
(A) eI e (B) Ty fomnr o
(O) T o iy e D) g wmmr -
Code No. : C-361/2016/Series-C 24

162.

2

167,

-

168.

Indigenous schools were appreciated by

M%m_ h«wm_:,_\:_m“w -..-M_Wvuﬁs.hwﬁi im%g_ Macaulay (D) Wood

(A) e (B) wzH (C) wFw @x\“@.?
Secondary Education Commission was established in e

weAfies fome e #1 e w5 g At o

(A) 1964 (B) 1948 (C) 1952 D) 1854 ("

Kothari Commission was formed under Education Minister
(A) Abdul Kalam Azad (B) K.L. Shrimali

(C) M.C. Chagala (D) K.C.Pant

HIBRT FHYH Ferer w5t & e % HevE = T |
(A) S FAH AR (B) U, STt .
© TH.H. ST (D) F&. 9

A draft of challenges in Education was published in

(A) January 1985 (B) August 1985

(C) May 1986 (D) August 1986

T GIPE H1E AT I TR A I gF A ?

(A) == 1985 (B) 30T 1985 (C) HE 1986 (D) 7T 1986

. MEE from a disorganized home will experience the greatest difficulty
wi
A) Well-structured lessons (B) Independent study

) Programmed instruction (D) Work books
U FTEaegT 0 & oed &l §I9 TR HE Hag 2t 0

(A) GEEEE TS (B) T anmaw ®
(C) whnfhe s W (D) Ty e

Suppose fourteen years old girl has taken to wearing the same style sweaters
that her teacher wears, then this form of behaviour is known as

(A) noamm.zmmgo: (B) Regression

(C) Identification (D) Egocentrism

IR ATE A HI ASH! B I e FT W TeA AT ST Sy 9y e qeet
&, dt 59 e & warg 3w w0

(A) s (B) Wmm  (C) wEiEm (D) s

The essential object for the full development of young ones is
(A) Games and Sports ¢B) Cultural Programme
(C) Cultural Knowledge (D) Religious Education

et o X ferehry o fore mewagut s = & 2 x
(A) THA-F7 AT FARET " Q)
© ﬂmmm__w_ﬂ g
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=

: : .rs. the important tool for
169. If you wish to maintain a sweet relation with others, the 1m)
you is
(A) to praise them always. -
(B) to invite them to your place and to go to theirs.
(C) to ignore their mistakes.
(D) to trust them honestly.

e o e T e T T <R 8, A o g o

<

L3

(A) TP THAT TR FEA | . ¥
(B) S o T S R 3 o o 3 e | P
(C) I TeAteal Sl TSRS HEAT |
(D) $HER § 39 W IS HEAT [

i i itable way is :
To control the population growth in our country mEH.m
(A) by starting a campaign for the forced operation of the people uXder

lly planni >
family planning. . .
Uﬁwnwm&bm attractive programmes through public media to makg .’
people conscious of a small family and its m%m:ﬁmm.m. ; \\
(C) by making available sufficient facilities in the gmnzﬁm. : .17,
(D) by considering government employees for promotion if they accep
family-planning. .
T 9 ) e ST R § e % fg ST e ©
(A) TRERFRITR ¥ ST Wi B A S HEH % A I
&HEAT |
(B) =it %1 B Rew 3k 3u wae § faw ww & forg ofsereh wifear s
T s HEmAT B T | \.@
(C) areyaTel # ware SueTey GreeTd 3 | .
(D) 3R TR FHAR! TRAR-Fa it @R § 9 37! Jieare < |

The best way to rid a boy of his misbehaviour is

(A) to punish him mercilessly. .

(B) to handover the boy to the police.

(C) to educate him constantly. .

(D) to criticize him for his misbehaviour.

TF TEF I 36 THIER W A B T 3TDT AT &
(A) T BT 3T T AT |

(B) W og% ® qferd % &1di |iT & |

(C) 3 o ferea 31 |

(D) 3% TATER & ToTg Sl e F T |

Code No. : C-361/2016/Series-C 26

170.

(B)

176.

171.

177,

172.

gﬁ@kﬂ (C) o @ Hiea 7

“~(A) Vedic
bwﬂm@ﬂ?m%ﬂ ‘ST HTHT A 2

74.

What is teaching through deductive method ?
(A) From specific to general,
(C) From easy to difficult,

Frrmeereer fomm &1 vgfa 2 & 9
(A) Tavm 7 amrer 7

(B) From general to specific.
mup From macro to micro.

(B) == 7 favm 7%
(D) 397 g 7

In which education system, student was termed as ‘Shraman’ ?
(B) Islamic (C) Buddhist (D) None of these

(D) =9 ¥ =iE Fal

Which one among the following places receives the lowest rainfall ?
(A) Banikhet (B) Chail (C) Kaza (D) Tissa
Frferfaa # @ fovw s7e & gt =9 & s e £ 2 ®

(A) =@ (B) == (C) =mm (D) fawm

Himachal Pradesh came into being on 15% April, 1948 and had four
districts. At that time which one among the following districts was not the
part of Himachal ?

(A) Chamba (B) Mahasu (C) Sirmaur (D) Bilaspur

155t 3T, 1948 ! et wow atieea H 3T o7 o 39E 9w S o | 39 @Hg
1 % & = 11 fen femmae =1 T 76 a7 0 QO

(A) == (B) werg (C) R (D) fasmag

In 1951, HP became a part ‘C’ state under a Governor. At that time what
was the number of MLAs in the Legislative Assembly ?

1951 , few, ot & sfefer wm @ Ty T e | 3w g o W § woe T
= e e o 2 )

(A) 32 (B) 36 (C) 28 (D) 38

When Himachal Road Transport Corporation (HRTC) was set up ?
(A) 2™ October, 1974 (B) 2™ October, 1972
(C) 2" November, 1974 (D) 2™ November, 1972
femmerer T ZRIIE SR (TF 3R 2 HY) T WieA & g a1 2
(A) 2 TR, 1974 (B) 2 3TReW, 1972

(C) 2 7ae, 1974 (D) 294X, 1972
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178.

179.

180.

181.
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for the year

: Jatistics dept.

As per the data provided by Economics and _,.::_.._,._ﬁ_._,m”_ﬁ_.c_,m_,nr._ SCHLP 7 182,
mo_.\wiuo;. which one of the following facts ._,,_ﬁ_:m.___ m_h_cx.
(A) The strength of Legislative Assembly ol H. 3 by 4 members to Lok
(B) To the Union Legislature, H.P. is represented by

Sabha and 3 members to Rajya v:m:z. ated at Shimla, and Public
(C) The Himachal has got a High Court _‘of:e o 2

Service Commission _:r..,:ﬁﬁ _,,=. I::w_,%:"_.ﬂ tis Pradesh
. ere are five Gove >nt Universities ¢ . =
(D) There are five Governmen o - 3 Wﬂuwm_

. T 2014-2015 % W& U

iy 3T witeas! fawm # W { | -

il o Ry SR AT T E?

(A) few ¥ fam- o 95 T 68 ¥ |

(B) 4 wii® W1 % T 3K 3 T I & T
FAL . \

©) Rerreret TRV T U S =TT R & R ¥ T ol e T gHR H
femd

(D) fomae wiwr o diw wRert Ffafger € |

fey, @ §9 P GO | wArT

184,

Himachal Pradesh is termed as

) . ‘Horticultural State of India’ due to the
production of

(A) Mango (B) Apple (C) Citrus fruits (D) Hops

— S R A 4 fenre waw # qwe w5 amrEr e o FET AE |
(A) =™ (B) #= Qv
(€) Frdvize @ma g (D) 7

sity of motorable roads per 100 sq. km of area in HP as

(A) 63.08km (B) 65.25km (C) 6880km (D) 66.04 km

Mo:-;%ﬂmmw_a_mﬂm%qﬂaoiﬁﬁﬂnﬁﬂmﬂﬂi&ﬂmﬂﬂq
?

(A) 63.08 . (B) 6s25fFa  (C) 68.80 fF . (D) 66.04 FH

: . In which district Chandranahan’ and ‘Karali’ lakes are located ?
Physiographically, which one of the following areas is not inclused _g& (A) Kinnaur (B) Kangra (C) Shimla (D) Kullu
temperate — ZE:M m.%: _wnm%.m TR AN FAr et o foret F e & 0 o
A) Major parts o aul-s>piti ]
me wmﬂwmw g v. (A) =it (B) =rTEr © e (D) Fq
(C) Kinnaur

Bhattiyat Valley of District Chamba
%@ﬂv %ﬁmﬁwwﬂ?ﬁj F F B G A P AIHE-ITER F 3

Tl AT E 2 i
A) e feafiy 3 T AT (B)
an f=ir (D) ar foret = gt e

River Beas doesn’t flow through the district

A

>
(D) Kangra__ 186.

A) Kull (B) Bilaspur (C) Mandi
e L TR b=
(A) T ® femg (€ W& (D) et

As per the 2011 census, which one of the following facts is not true in

respect of H.P. ? .
oﬁu The total population of the state is 68, 64, 602.

(B) Density of population is 123 persons.

(C) The highest population density is in Hamirpur District,

(D) The decennial growth rate is 14.3% during 2001-2011. j

2011 % SO & feaa @ Frfeafad 4 @ s g ey & a H W 0
(A) 79 %} FoT @I 68, 64, 602 ¥ |

(B) ST i WEAAT 123 A & |

(C) W SITRT TETRT FET FHRYT foet & & |

D) 2001-2011 % TR IETH g 1 T 14.39 o |
28

187.

ol

bm. Mukkila Glacier is located in which one of the following regions ?

(@) Bhaga Valley (B) Pangi

(C) Manali (D) Rohru

et el e A R g am i R g0 < ;

(A) wmm ey (B)_ gt (©) =t (D) TEw

Who is the author of the book ‘Himalayan Polyandry’ ?
(A) Dev Raj Sharma
(C) D.N. Mazumdar
TeHTer deesl qee & eras W A T d o
(A) 33 =T ymt

Minjar Fair is the important fair celebrated in Chamba district. What does
‘Minjar’ represent for ?
(A) Wheat flowers
(C) Lotus flowers
HIST AT <o foret & A ST A Wewget Ao ¥ | Her fs fere ey R
g ? _

(A) WHFA  (B) G T

(B) Ram Rahul
(D) Shanta Kumar

®

(B) ™ e (C) A wRR (D) ¥iiaT FAR

(B) Local custom
(D) Maize flowers

C) ¥ F 5 (D) T % Gl
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ja of Chamba State, Raja

188. During First World War (1914-18) AD the then Ra 195, The name “Tim Cook’ is associated with
Bhuri Singh : (A) Google i (B) Apple Inc
(A) remained Passive _ HWN France as :xﬂmﬂ_m:‘woﬁo&% (D) Microsoft
B) helped the British Government o1 g AT il &
Mg on%._,“ma the British Q:,_E.:_MME : (A) T (B) ™07 Inc
(D) participated in the Ghaddar Movement . : L s ; o In T~
ﬁnm«mmﬂ%:-é m.%.%%ﬂmﬁﬁﬂ%mﬂﬂﬂ%g.ﬁﬂﬁo_?ﬂ (C) wia 3t oy wfea & =7 8 D) wEEm
| 196,  ‘Justine Trudeau’ is the
A) Hssrw (B) fiw TH F A A Q.v (A) President of Spain (B) Prime Minister of Australia
(C) e e =7 fardy e (D) TR areter o fean fern (©) v_.mnumwana of wnm.m: (D) Prime Minister of Canada
. T e [
189. What m the m,:,ﬁ period of revolution AMW w. mmmmm”%wm@ satellite ? (A) ¥ afe (B) R & i ©
105 Opcwes () One month _ (C) wefer & T (D) 1 % o st \
T ST TETFIEFATE? X . 197. The World’s largest film city ‘Ramoji Film City’ is located at
(A) 126 (B) 24%R (C) 1 ¥=E (D) 1@ MWW ZM%& (B) Chennai %M Hyderabad (D) Pune
= kal fipestt wrex Tt fepemr faer
190. Which planet is closest to the Sun ? (A) Haé b ®B) o) 3 TEE |
(A) Mercury  (B) Pluto (C) Earth (D) ?&k \ & == (C) Tt o T @
B T UE T & G T @A 8 ? ® 98. ‘Pratyusha Banerjee’ who was recently found dead (April 2016) in her home
(A) 9 (B) =& © =i (D) V in Mumbai, was a
: 4 . (A) Social Activist (B) RTI Activist
191. ,mwww a%gmmwm not transmitted by :ocmo-ﬂmua Sl b (C) Classical qm%zm@. (D) TV Artist
( olera : ysentery b\ ¢ =i ‘ i
(© ogmcl%m S (D) None of these _ S il o = & (30 2016) HE F o w0 F g 0 o, o
_ —_—
— : A) T wiFgamEm ©
: (A) s (B) s E= (C) ¥gg@r (D) FHA _ Anv , (B) 3R 2 3¢ whpgamam!
. . . . (C) ¥meita Hritehr (D) Za o=y
192, The first effective vaccine against polio was prepared by 199. Di )
(A) Jonas E. Salk (B) John H. Gibbon B~ g » ‘Dipa Karmakar’ who has recently been selected for Rio Olympics, is
(C) James Simpson (D) Robert Edward S associated with .
Qiferat | S99 1 TEeT T 21 [HE oar R ar 2 mE Archery (B) Gymnastics (C) Pole Vault (D) Shooting
(A) SIFE 3 |o% (B) quMmﬂmﬁm \)) \\ M%%.%ﬂﬂ%wg%ﬂﬂmﬂ%?qm&iw.g%wq D
(C) =g famrsa (D) =< ugae wfaren (B) =m@m (C) w37 (D) Tefamd .
193. Ampicillin is used as on 200. _ bank has recently (in May 2016) became the first financial
(A) Anti-inflammatory agent (B) Anti-malarial drug Institution of India to tie up with the BRICS Grouping promoted New
(C) Anti-cancer agent (D) Antibiotic drug Development Bank for a partnership in bond issuances, Co-financing and
TEEA FEqH IYGTEATE | treasury management etc,
(A) %ﬂﬁ%ﬂﬁ (B) weiit feriedt sy, (A) mm%ﬂﬂﬂﬁ %wvwo_H%mrﬁ% dmmww Mﬂzw. iw@ AXIS BANK
© SR FE (D) wiersttar sty » o it . A i 5 5= (BRICS) {]
194. Rain drops are spherical due to .@%3 % W e S, ¢ fosfm 4% &t s v § 98 WA SR s @\\
(A) Viscosity of water (B) Surface tension MME mﬁﬁﬂi & forq weare fear |
(C) Airfricion (D) Continuo : ) THHLIAR. (B) 31rs 4t a1mg wh. ams,
iﬁw e 4 T A & 2 PEagom LI () (D) T 3
A I (B A ! 1] .
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